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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the answer on your answer sheet.

76- He cut -—------—----—- with the knife while he was doing the dishes.
1) Myself 2) Herself 3) Himself 4) themselves
77- When the phone rang, Sara didn’t hear it because she -------------—--- to music.
1) listened 2) will listen 3) is listening 4) was listening
78- He's -—-———---——-——-- athlete ever to win an Olympic gold medal.
1) older 2) oldest 3) older than 4) the oldest
79- Jupiter is -------------—- planet in our solar system. It has ------------———- sixty moons.
1) the largest/more than 2) the larger/the most
3) largest/ most 4) larger/more
80- The reason he has been so tired recently is that he is working ---------------- hours these days.
1) tall 2) long 3) cloudy 4) careful
81- After twenty years, seeing him again -----------—--——-- very strange.
1) felt 2) said 3) created 4) behaved
82- I had really bad ---------------- and I was off work for two weeks.
1) medicine 2) grave 3) cradle 4) flu
83- In 1997 huge fires -------------——-- a large area of tropical rainforests in Borneo.
1) lost 2) put out 3) destroyed 4) protected
84- The number of ---------------- who visited Europe has decreased since 2001.
1) planets 2) tourists 3) humans 4) hunters
85- She may be in trouble at this very ------------—--- and trying to call you.
1) sense 2) column 3) moment 4) guess
86- Students who are regularly ----------——---- from school won’t get good marks.
1) poor 2) absent 3) patient 4) famous
87- She realized that this was ----—-------—-—- the last time she would see him.
1) probably 2) rapidly 3) recently 4) continuously

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

What is (88) ------=--memmm-- ? It is when a plant, and animal, or a way of life stops
existing. Scientists are divided on (89) ---------------- . Some think that it is a natural
part of the evolution process and that all species (90) ---------------- extinct one day.
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88-
89-

90-
91-
92-

Others think occasional disasters cause certain species to (91) ---------------- . When the
living area of animals changes quickly, it is difficult for some of (92) ---------==----- to
adapt and survive. When a species can’t evolve quickly enough, it becomes extinct.

1) disease 2) success 3) extinction 4) experiment
1) what causes it 2) which it causes

3) which will cause 4) what will it cause

1) became 2) becomes 3) have become 4) will become
1) die out 2) give up 3) put out 4) take care
1)it 2) them 3) itself 4) themselves

PART C: Reading Comprehension
Directions: Read the following two passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

PASSAGE I:

Madagascar has two seasons, a warm, wet season from November to April, and a
cooler dry season between May and October. However, different parts of the country
have very different weather.

The east coast is hotter and wetter, with up to 4000mm of rainfall per year. In the
rainy season, there are strong winds, and these can cause a lot of damage. Avoid
visiting eastern Madagascar between January and March because the weather can
make road travel very difficult. The dry season is cooler and more pleasant.

The high, central part of the country is much drier and cooler. About 1,400 mm of
rain falls in the rainy season, with some thunderstorms, but the summer is usually
sunny and dry, but it can be cold, especially in the mornings, with freezing showers,
and it may snow in mountain areas above 2,400m, and even stay there for several days.

The west coast is the driest part of the island. Here, the winter months are pleasant
with little rain, cooler temperatures and blue skies. The summers can be extremely hot,
especially in the southwest. This part of the country is semi-desert, and only gets
around 300mm of rain per year.

93- The main function of the passage is to----------- .

1) describe yearly rainfall in Madagascar

2) explain why Madagascar has two seasons

3) explain when people should visit Madagascar

4) describe weather conditions in different parts of Madagascar

94- In Madagascar, the wet season ----------- .

1) is one of the three seasons

2) is colder than the dry season

3) lasts for a very short period of time

4) has a higher temperature than the dry season
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95- The word “it” in paragraph 3 refers to ----------—- .

1) weather 2) summer 3) central part 4) rainy season
96- The lowest level of rainfall in Madagascar occurs in-----------

1) summer 2) October 3) the west coast 4) the east coast

PASSAGE 2:

You’re 16 and finally you can leave school! By now, you’re probably sick of teachers,
desks, tests and exams. But don’t just run for the exit. You need to think carefully
about what to do next.

If you want a professional career, you will need to go to university and get a degree. To
do that, you need to stay at high school for another two years. But you needn’t stay at
the same place. There are several options in the district of Northacre.
St. Leopold’s School has the best pass rate of all the high schools in the district. It offers
a wide range of subjects in the humanities and sciences. St Leopold’s is, of course, a
private school, so may be too expensive for you. But don’t worry, there are several other
options if you want to follow the academic route. Knowle Grammar School is a state
school, so there are no fees, and it has excellent tuition and facilities. It is a boys’ school
from the ages of 11-16, but from 16-18 it is co-educational. But it is selective, so you’ll
have to pass an exam to get in. If you’re interested in going into Business, check out
Wyle River Academy. This school specializes in subjects like Business Studies,
Management and Economics. If you prefer the arts, look at the courses on offer at
Northacre College. Here you can study woodwork, art, textiles and much more.

97- The passage mainly discusses-----------
1) why high school students should leave school
2) the difficulties of starting a professional career
3) the options 16-year-olds have to get to university
4) the factors that influence one's choice to stay in or leave school
98- The article advises readers who want a professional career to----------- .
1) go to high school for two more years, then get an degree academic
2) leave school and go to the district of Northacre
3) stay at the same school for two more years
4) go to university immediately
99- Students can only attend St. Leopold’s school if they----------- .
1) pass an entrance exam
2) pay money for tuition fees
3) go to Knowle Grammar School first
4) study both humanities and sciences
100- It can be understood from the passage that if someone wants to become a scientist, he

should -----------
1) not stay in hlgh school 2) not go to Northacre College
3) study at Wyle River Academy 4) attend a co-educational school
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